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‘What docs the man mean?

A. He doesn’t like any fruit.

B. He likes both apples and oranges.

C. He likes bananas more than any other fruit.

. What doecs the woman mean?

A. The picture is very valuable.
B. Thc picture is not so valuable.
C. The picture is well painted.

. What do we learn from the conversation?

A. The man likes chemistry very much.

B. The man doesn’t have to take English exam.

C. The man doesn’t like to take chemistry exam on his
birthday.

. What will the weather probably be like?

A. Sunny.
B. Rainy.
C. Cloudy.

- What does the woman intend to do during the summer?

A. She plans to write a book.




B. She plans to do a lot of reading.
C. She plans to travel all over France.
6. What do we know about the two speakcrs?
A. They’ve missed their train.
B. They are on the wrong train.
C. They can’t find Tommy on the train.
7. What do you know from the conversation?
A. The man had to work overtime.
B. Henry failed to meet man.
C. The man had a traffic accident.
8. What is the problem with thc woman?
A. She wakes up too early.
B. She stays up far into the night.
C. She feels it difficult to get up every morning.
8. Where docs the conversation probably happen?
A. On a bus.
B. At a railway station.
C. At an information desk.
10. What do we know about the woman?
A. She wants to stay and see Tom.
B. She is too busy to see Tom.
C. She doesn’t want to see Tom at all.
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1. When will they go to London?
A, This summer.
B. This autumn.
C. This winter.
2. Where is Jack?
A, In the reading-room.
B. On the playground.
C. In the classroom.
3. What will the man perhaps do next?
A. He will help the woman find the Gulou Street immediately.
B. He will show the woman around the city.
C. He will do his own business.
4. Who is the man talking to?
A. A journalist. B. A waitress. C. A waiter.
5. How does the woman feel about the service?
A. She feels sad.
B. She feels pleased.
C. She feels angry.
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6. What time does his train leave?
A. At 5. B. At 6,20. C. At 7.50.
7. Where is his brother?
A. In Shanghai. B. In Beijing. C. In Zhengzhou.
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. How many days will the man and the woman be free from

work?

A 2. B. 3. C. 4.

Who has been to Chicago before?

A. The man. B. The woman. C. Ncither of them.

What are they going to do in Chicago?

A. To play games.

B. To take photos.

C. To visit muscums, parks and so on.

Who is going to drive?

A. The man. B. The woman. C. Both of them.

Wrsh 8 Bt il M85 12 % 14 |,

. When does this talk take place?

A. April 1. B. May 2. C. June 1.
What was the latest news on TV last night?

A. There would be a new holiday.

B. People wouldn't go to work today.

C. Nothing about the above.

. What will they do after their conversation?

A. They’ll get down to having a holiday.
B. They'll go to work.
C. They’ll go to the boss’s house.

Wrds 9 BURHES, [1A 5 15 3 17 .

. What's the weather like these days?

A. Fine. B. Wet. C. Windy.
What does the woman believe?

A. She believes what the weatherman says.

B. She believes what the man says.
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C. She believes nobody.
. What does the woman decide to do?
A. To go without the man.
B. To take her raincoat with her.
C. To listen to the weatherman again.

WrEE 10 Brbbkl, MIESE 18 F 20 4,
. When was the building built?
A. In 1718. B. In 1782. C. In 1930.
. What was the building used as at the time of the fire?
A. A hotel.
B. An old people’s home.
C. A history museum.
. Who is Andrew Barnes?
A. A newspaper reporter.
B. The owner of the building.
C. The head of the firc department.

Test B

- BN
Wr TR 10 BEX S, FE B AT — A /NE L W R BT 89 ALB,

C =AUt it R AR T

1.

2.

What does the woman think of Ann?

A. She is too young to be a manager.

B. She is able to be a good manager.

C. She learns a lot from her father.

Why was the woman so late?

A. Something went wrong with the bus.

B. She took somebody to hospital.

C. Something prevented her from catching the bus.
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3. What will the woman probably do this coming Sunday?
A. Study for the test.
B. Call on her friend.
C. Go on a picnic.
4. What does the man mean?
A. He expects the concert hall to be crowded.
® B. He does not want to sit close to the stage.
C. He would rather stand than sit.
- What can we learn from the conversation?
A. They are both neighbors.
B. They are both classmates.

[44]

C. They are not from the same country.
6. What did the man suggest the woman do?
A. The man suggested that the woman stay indoors in the
morning.
B. The man suggested that the woman go outdoors in the
morning.
C. The man suggested that the woman stay indoors in the
evening.
7. What will she probably do?
A. Water the plants.
B. Wash the car.
C. Do nothing.
8. What does the man think of Los Angeles?
A. The air is polluted.
B. The people there are terrible.
C. It’s too windy.
9. What does the man say about Kate?
A. Many people have always liked Kate.
B. Kate wasn’t expecting so many people at her party.
C. A group of friends arranged a surprising party for Kate.
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10. What does the woman feel about the man’s words?
A, Excited.
B. Surprised.
C. Frightened.
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1. What does the woman tell the man?

A. He pays the same price but he gets more.

B. He can get free tomato juice.

C. He pays 10 percent more for the tomato juice.
2. How many brothers does the woman have?

A. One. B. Two. C. None.
3. What can we learn from the dialogue?

A. They are going for a holiday.

B. They are very busy at Christmas.

C. Christmas is coming soon.
4. When will the two speakers get to Beijing?

A. At 8:30. B. At .50. C. At 9:00.
5. Why didn’t the woman come on time for the meeting ?

A. She got up late.

B. The bus was late.

C. She forgot the time.
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. The talk is going between ?

. When docs the woman usually watch TV?

A. After midnight.
B. When she 1s free.
C. After she has dinner.

. Why was the man unhappy?

A. He lost his meal tickets.
B. The food was terrible.
C. The woman had the same problem.

. Why did the man feel even worse?

A. He didn’t sleep well.
B. He wasted so much time.
C. The woman had the same problem.

WTSE T BAL L, MIZESE 9 & 11 M,

A. father and mother
B. mother and daughter
C. father and daughter
What day is Mother’s birthday?
A. Next Monday. B. Next Sunday. C. Next Saturday.
From the call we know that Lily will go__ 7
A. with her friends B. with her husband C. alone

WTEE 8 BEADRL, I 12 2 14 34,

When will the man go to see Mr Smith?

A. At ten o’clock. B. At nine o’clock. C. At eight o’clack.
What do we know about Mrs Thompson?

A. She is kind-hcarted.

B. She is interested in everything.

C. She lives nearby.

How many things does Mr Potter have to do?
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A. Four. B. Three. C. Two.

WSS 9 Babtel [l 2555 15 £ 17 5,

- What kind of color TV does the man want to buy?

A. Asmaller one. B. A biggerone. C. A cheaper one.

- What is the woman’s opinion about buying a color TV?

A. She thinks it would be better to buy a smaller one.
B. She agrees to buy a bigger one.
C. She wants the man to buy an expensive one.

- Why does the woman suggest that the man should buy a TV as

soon as possible?

A. Because it is much cheaper now.

B. Because the shop will sell all the TV sets out.
C. Because she can give him some help now.

WEHE 10 BRAHRE, 445 18 % 20 B,

- How many people were hurt in the accident?

AL 10, B. 11. C. 12,

Which sentence best describes the accident?

A. The accident was the result of drunken driving.

B. Poor weather conditions led to the accident.

C. A moving truck hit a school bus.

At what time did the accident happen?

A At5:00p.m.  B. At3;00 a.m. C. At 3:00 p.m.




)

L 10 D—
N =

g il

C

@
. Unit 2
Bt 18) i o & Tl 2k
Test A
« EOUN&
Wr R 10 B iE . BEAHE A — /NS, ME BT E ALB.
— /I R Y R TH

. When will they meet again?

A. On Sunday. B. On Saturday. C. Not known.
- What time is the woman leaving? '
A. At 4:30. B. At 4.00. C. At 3.:30,
. What time it is now?
AL At 5:40. B. At 6:50. C. At 5;10.
- At what time does the next planc to London leave?
A. 10.00. B. 11.00. C. 12.00.
. When did the man’s daughter set the world record?
A. In 1989. B. In 1995. C. In 1999.

- How long will they have to wait before the film starts?

A. 20 minutes. B. 15 minutes. C. 10 minutes.

- When is the train supposed to arrive?

A. 23 minutes ago. B. 54 minutes ago. C. 30 minutes ago.

. When does the train to Bath leave?

AL 3:00. B. 3:15. C. 1:15.

. When should the man make the call?

A. At 8.:00. B. At 10,00. C. At 12.00.



